Systems of Equations: Substitution Method #1 Problems from page 497-498 with one
equation already isolated for 1 variable.

Solve the following by using the substitution method.

Remember solve for both “x” and “y”

2) 2x+y=>5 3) x=3y+10

4) 5x —3y=22 5) x=-Ty-11
y=4x-19 —2x—5y=4

8) x=-y+3 9) y=x+5

—4x 4y =12 3x—-3y=-15
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Systems of Equations: Substitution Method #1 Problems from page 497-498 with one
equation already isolated for 1 variable.

Solve the following by using the substitution method.
Remember solve for both “x” and “y” ( anf b ) _
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Solving Sysi:ems. of Equations by Substitution Date Period

Solve each system by substitution.

1) y=6x—-11 2) 2x-3y=-1
-2x—3y=-7 y=x-1
3) y=-3x+5 4) -3x—3y=3
5x—4y=-3 y=-5x-17
5) y=-2 6) y=5x~7
4x—3y=18 ~3x-2y=-12
7) Yqpae-> Y=Hx+C 8) —7x—2y=-13 _
o) dfbsarne = y=5Xx-2 10) LALyn3 —> Y= A3

—3x+6y=-12 3x-8y=24



